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UNIVERSITY OF NORTH BENGAL 

B.A. Programme 1st Semester Examination, 2021 

DSC1/2-P1-SANSKRIT 

Time Allotted: 2 Hours Full Marks: 60 

The figures in the margin indicate full marks. 
 

 UNIT-I 

1. Answer any one question from the following:  12×1 = 12
(a) Explain the dramatic significance of nqokZll% “kki% from the drama 

vfHkKku”kdqUrye~A 
(b) Justify the comment **miek dkfynklL;**A  

   
2.   Explain any one of the following: 6×1 = 6

(a) fp=s fuos”; ifjdfYir lÙo;ksxk 

:iksPp;su eulk fof/kuk Ñrk uq। 
L=h jRulf̀’Vjijk izfrHkkfr lk es 

/kkrqfoZHkqRoeuqfpUR; oiq rL;k%॥ 
(b) bna fdykO;kteuksgja oiqLri%{kea 

 Lkk/kf;rqa ; bPNfr। 
/kzqoa l uhyksRiyi=/kkj;k 

 “kehyrka NsÙkqèf’kO;ZoL;fr॥ 

  
3. Translate into English or Bengali any one of the following: 6×1 = 6

(a) u [kyq u [kyq ck.k% lfUuikR;ks·;efLeu~ 

ènqfu èx”kjhjs rqyjk”kkfookfXu%। 
Do or gfj.kdkuka thfora pkfryksya 

Do p fuf”krfuikrk otzlkjk “kjkLrs॥ 

(b) uhokjk% “kqdxHkZdksVjeq[kHkz’VkLr:ike/k% izfLuX/kk% DofpfnqnhQyfHkn% lwP;Ur ,oksiyk% 
foklksixeknfHkUuxr;% “kCna lgUrs èxkLrks;k/kkjiFkk cYdyf”k[kkfuL;Unjs[kkfrk%A 

(c) xPNfr iqj% “kjhja /kkofr iknlafLFkra psr%। 
phuka”kqdfeo dsrks% izfrokra uh;ekuL;॥ 
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4. Answer any two of the following questions: 3×2 = 6
(a) Who were the parents of  “kdqUryk ? 

(b) Who is the author of the drama vfHkKku”kdqUrye~ ? Write an another Drama of 
him. 

(c) Who is *djHkd* ? What did he inform to nq’;Ur ? 

  

 UNIT-II 

  
5. Explain (a) or (b) : 12×1 = 12

(a) #P;FkkZuka izh;ek.k%] gsrkS] mr~ikrsu Kkfirs pA 

(b) lk/kdrea dj.ke~] dÙkZqjhfIlrrea deZ] Lig̀sjhfIlr%A 

  

6. Account for the case-endings any three: 1×3 = 3
(a) xzkea le;k unh ogfrA 

(b) jktk uxje~ miolfrA 

(c) Ñ’iefHkØq/;frA 

(d) tieuq izko’kZr~A 

(e) jkes.k ck.ksu okyh gr%A 

  

7. Expound and name the lekl any three : 1×3 = 3

 nqfHkZ{ke~] izR;{ke~] ;FkkZ”kfä] vuqxe~] f=eqfuA 

  
8. Give the resulting forms of any six of the following: 1×6 = 6

 xe~ $ ä] lso~ $ “kkup~] vl~ $ “kr]̀ Ñ $ ä] fHkn~ $ äorq] Hkqt~ $ rqequ~] 
“ke~ $ kp] vk-nk $ Y;i~] n”̀k~ $ ;r~ A 

  

9. Join and dis-join the of  lafU/k any six of the following: 1×6 = 6

 fu% $ jl] egk $ ÅfeZ%] nf/k $ v=] eqfu $ bZ”oj%] ikod%] nSR;kfj%] uk;d%] x.;wfr%A 
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